
L C R 

U 3, -3 -2, 2 2, -2 

M -1, 1 0, 0 4, -4 

D -4, 4 -3, 3 1, -1 
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(Based on James Stodder, “Strategic Voting and 
Coalitions: Condorcet’s Paradox and Ben-Gurion’s Tri-
lemma” Int. Rev. of Econ. Ed. (2005)) 









Options will be ranked.  
Only two of three can be simultaneously picked 
The first one will be the primary goal of the 
company 
First: vote (and agree) on a finalist 
Second: choose between the other two  
Third: vote on top priority among the two finalists 



•  Each group will caucus together and pick a lead negotiator 
•  Lead negotiators will meet privately, in pairs, in sequence: 

 L+C, C+R, R+L 
•  Followed by another round of pairwise meetings (same 

sequence) 
•  Each group will submit a vote on one option (G, H, P) for 

finalist 
•  If no winner, repeat (with one round of pairwise meetings) 

until there is 



Round 1: Each group caucuses and then picks one 
of the two remaining options to join the finalist 
 
Round 2: Each group caucuses and then picks one 
of the two finalists as the priority 



Left Center Right 
G>H>P 3x3000+2x2000=13000 3x2000+2x1000=8000 3x1000+2x3000=9000 
H>G>P 3x2000+2x3000=12000  3x1000+2x2000=7000 3x3000+2x1000=11000 
G>P>H 3x3000+2x1000=11000 3x2000+2x3000=12000 3x1000+2x2000=7000 
P>G>H 3x1000+2x3000=9000 3x3000+2x2000=13000 3x2000+2x1000=8000 
H>P>G 3x2000+2x1000=8000 3x1000+2x3000=9000 3x3000+2x2000=13000 
P>H>G 3x1000+2x2000=7000 3x3000+2x1000=11000 3x2000+2x3000=12000  

Left: G > H > P 
Center: P > G > H 
Right: H > P > G 




